Nowdon's Laws Test Revew

- e dt%ﬁ\rg Aoxo-trevieihe Delwicev
v ol oA e wer ol Seove-ess ok
veSererxe %= occelerorion. Trerdol Srames
& vebectrvwe oxe ok vest or W b e
ek av | Way e ok oencce\zrodn « N~
wernol fvones 3 velevence nq«t‘\%(uhfa\\
*\C.f N ol g O Covrvel 'mt- W s wevhial
Ve Yo\l oo\ XS Sur ok Yo duloe and
ooch v 11"3: A s vor-werHal Ree
[ "o\ | WAL | R W o ke W Yre duloe

-

2 . Eadee X o ;
V¥ \ow ~objedrs @ vest =hoy @ve: o
T W T-) ) LSS oadked o~ oy an
T R - Tre rodek o i stardks
o \owrd Lo\l b Slou (kecoawse 1Y oS Yo
DuefCovre. yw—ar\o. ,

272 lowi - oy = o When W 2xkgust
oS oA vadkehs axo q'u‘-r'w*% e "-\-\(\- S
Ve e VoAY oo B ywoDS F e vatkeh
= Sraman Yo occe\vyoaRorm wereases
s e ave O RN Gravnw— e Lord

-!3""& Long - S -tuom:s v ROCK I~ Mere 1S O
Lqua) 6rd  cPEIDNE YRACKIN . Exhausk Conws
ouir Ao ad armd e ok Fore pushes
Ve yoal\ek uxpNﬂd’d‘."h Lo 'nrﬁ Ve v ol

worara  wa o —pote -



3.

/T"TH‘-I o= 00Dt

Ubﬁkﬂ
i o) f-hgnr = v
fq ) Trek = 25)(0.63)
Ty = HOL N
\:;:3 fa = v f‘_ﬂ& Sy . ;:
£ = (e25)(A4) R YRR
Ta="131. 25N WS31.2% = §,
. 3’5&5
& vo =20~Is a) \.ﬂ;’zz Voo +2alde-do)
254 oS o - OmIs (02 = (~201* 42162450,
do=0 0 = HoO+2o (-2.4%)
d ¢ =2 . 4% O = 400 +-4.9.
=3 "‘"GQ =-44a
™3 ~4a 449

gl. b3 wmig® —ao
L2l =
o) g‘rw&- = oo
Tred = LA3WEZ)
":,.q* = 2106 N



) 4 Dy
fm >
2.1kq 6 o= Z¥ = Srma
"— "l' —= [.l"“n‘ “'ml-}ﬂ_
taz \""E # (2. '-"?'i‘! 20 =(4342.1) 0
)

- (0 B HINAE) + 20 .60 = G Ha
“L. 33 ¥ 20.L0 =Tl Ha
14.27 = 4o
o-H .Y
2. 25 mls? —o

By V=l ZF= oo
" ‘FT = oy on
Go v cr 2.11(2.23)
20 (O + 1_ L3 -20460
:‘1_1 -\5 .32 N

G- Fo =2 al ZF = Zra
o = . LOmIg? i, t foo = Gyt dac
% 3s.0kq (e WTUW @OIALO + 2715 =l +A0) 16
“AUm, 4+ 222 420 WA 3 =10, ~ 144
G ~A U, A EONAY, = oOm, - 141 i
Y @ “RBh i, ¥ 1SLAS Z 1.60M 49 Blim
TH.A0 = 2,20y
.21\ q.2\
Ql.ﬁ‘iks =",

b\f =7 Z¥= Zra

mlo._

- (a\ *svﬁm %I = (A8 -1.60)

-'82¢ 4o + t.n %246 53 4 Ba2.40
Fro= 2 W



	Page 1
	Page 2
	Page 3

